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"SAMPLE PAPER (FULL SYLLABUS) 2023-24
4 _ ‘ - Class: XI ] | _
Time: 3 hours Subject: MATHEMATICS ' - M.M. 80
- Section-A (1 mark each)

1. ¢hoose the cotréct options in the fbllowing questions:
) if A= {x;ﬁc EN,-3<x< l}lAthen“Which of ,‘,these is correct: ‘
(A)'—4EA | o (B)‘IE“; ' | »(C)ZE.A D)2e4A |
(ii) Radian measuré of sum of angles of a qué.drﬂateral is:
,‘ Ar - B)2n (O | (D)=
'(iii) ' cos:é'c(% -AI-"x)‘ is equal to: |
| (A)co“éecx - ‘ (B)—cosecx' | (0)- secxk ; | ' (D)secx
 (iv) tan 240° is eéual‘ to: V
A3 eV | (©)1% | (D)-%
(y) Which of the foliowixlg iS“I‘10.t a measure of disﬁcrsion? | ‘
(A) 'R‘avng‘e (B .Mean deviation | (C) Mode - (D) sfandard deviation -
(vi)i%iy=2—7ithenify= | »
ws ®) -7 @ D)9
| (vi.i)‘ Value of i2°2;°f is equal to: " o
S et e D)~
(viii) If A = {3,5,a} then number of elements in the powér'set of A: | '
®s | | B9 | ‘o 27 | D) 6
.&ix) Total number of Ways m whicﬁ “TREE;’ can be arrangéd are: |
w6 o\ . (048 -  (D)24
(k) Nun‘xb,er“of chords that can be dféu.)vn through 20 points on a circle are:
(Aj4o - ~ (B)200 | | @19 (D)210

(xi)The derivative of Vx at x = 9 is:

[N

w:  ® s )



(xii) Number of elements in ;he sample space wi;én a die is thrown thrice are:
@ae @12 - (C)36 (D)216
(xiii)' ~ Slope of line perpendicular to fhe line 2x - 6y =—1is:
w: @3 ©-3 Y
(xiv) Three coihs are tossed. Probébilify of gétting at least 2 heads is:

@ e e | e
&) Range of f(x) = [x] is: |
RO oeNn (o : DR
(xvi) I.n‘a G.:P. having third term 24 and corhmon ratio 2, Second term is equal to:

@ - N 11 - (D8

| 2. Fill in thg Blanks -from the ‘Lgiven opfions: .

(i)‘ If the numbé;s '—;, x,— g are in G.P., then value of x is equal to ...
(ii) If A={1,2} then the total number of subégts of Ais ...
(iii) Thg distancé of origih from the l'ine’ 15x — 85/ = -561is
(i‘v‘) Length of fhe major axis of the ellipse J;—%.+ ’1’—:= lis ...
(v) 'Distance between the points (2,1,—-2) and (-2,1, —-3)-is
W) Leora =

(ﬁi) %(3 sint + 4cost) = -

(viii) . Derivative of s{nx w.r.t.  when x=Zis ...

‘3. State trl.ig or false for the folldwing‘ statements:

(i)} Number of terms in the expansion of (1.?-'x2)5'.is 6.

(ii) The set of all second elements in a relation R from a set A to a set B is called Range of the

* relation ‘R. A
(@) T=2

('iv')The-innt (-3,1,-9) lies in VII octant.




. (v) Cos x is always an increasing function in first quadran‘t.,

sy 5. 3% 8
(Vl) ’lcl_I)I(l) sin Qx 3 ‘
(vii) The solution setof 4x +3 > 8x + 7is (Foo —i).
(viii) IfA={x:x€N, 1<x<3}andB {012} thenB+-A= {12}

Section-B (2 marks each)
4. Which term of the sequence %.%,%, s (4096)'1'?
5. Expand (x - -3) ,x # 0 using binomial theorem.
_ Or .

Commute (99)° using binomial theorem.
6. How many 4-digit even numbers can.be formed using the digits 2,3,4,6,7,8,9, if no digit is

repeated?
7. Find the ‘coordinate‘s of the focus, axis of the parabola, the equation of the direcfrix and the

length of the latus rectum for the parabola x? =‘—1.6y

| Or

Find the equation of the ellipse whose vertices are (+ 13, 0) and foci are (+ 5, 0).
8 A die has two faces each with number ‘1’, three faces each with number 2’ and one face with

number 3’. If die is rolled once, determine (i) P(2) (ii) P(not 3). ‘

A . ~ Or . ' .
~ Find the probability that when a hand of 8 cards is drawn from a well shuffled deck of 52
~ cards, it contains all ngs
"Section-C (4 marks each)
9. (a) Find the value of sin 150° — cos 180’
(b)) In a circle of diameter 60 crrl,‘the .‘length of a chord is 30 cm. Find the length of minor arc
of the ehord.

10. Insert two nl.i,nrbers. between 3 and Sl'so that the resulting sequence is G.P.
The sum of first three terms of a G.P. IS - and their product is - 1. Find the common ratlo
_-and the terms.

11. Find the conjugate of =— 2(3“)



12.

13.

14.

15.4

16.

(a) Find lim
ST x--3

Or

' Find the real numbers x and y if (x - ly) (3 + 5i) is the conjugate of - 6 - 24i.

Find the equation of the line passing through -3 5) and perpendlcular to the line through
the points (2, 5) and (-3;6).

| | Or
A line perpendicular to the line segment joining the points (1, 0) and (2, 3) divides it in the

ratio 1: 3. Find the equation of the line. .

‘Calculate mean and variance for the following distribution:

Classes 3040 [4050 |50-60 6070  |70-80 | 80-90 90-100

Frequency ‘3 7 112 115 - 8 |3 2

Sect'ion-D‘ (6 marks each)

() Solve 5 (2x- 7)- 3(2x + 3) < 0,2x + 19 < 6x + 47

(b) Find the number of permutatlons of the letters of the word MATHEMATICS’
Or I
(a) The longest side‘ of a triangle is 3 times the shortest side and the third side is 2 cm

- shorter than the longest side. If the perimeter of the triangle is at least 61 cm, find the

,mlmmum length of the shortest side.

(b) How many numbers greater than 10000000 can be formed by using the digits 1, 2, 0, 2,4,

4,2,4?

(a) Prove that cos?x + cos? (x + },15) + cos? (x —;—t- =.% ‘

(b) Prove that sin (Zf- + x) + sin (%t - x) =—VZcosx
Or

" x - x X L 24 . :
Find sinZ, cos3 and tan7 when'tanx = =, x lies in 4th'quadrant.

" Find derivative of cos x using first principle.

Qr

4x247x-15
x3+27

(b) Differentiate (4x +‘3) sinx w.r.t. X




